
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ  
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ  

«ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ  
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ» 

 
 
 
 
 
 
 

 
 
 
 
 
 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

 

Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

 
ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

II (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
 

Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
Ѐ 2016/2017 ЀЀЀЀЀЀЀ ЀЀЀЀ 
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ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ III (ЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

 
ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ II (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ 2016/2017 ЀЀЀЀ-
ЀЀЀ ЀЀЀЀ / ЀЀЀЀ. Ѐ. Ѐ. ЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀЀЀЀ, 
Ѐ. Ѐ. ЀЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀ // ЀЀЀ ЀЀЀ. ЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ. – ЀЀЀЀЀ: ЀЀЀ-ЀЀ 
ЀЀЀЀЀ, 2016. – 40 Ѐ. 

 
 
 
 
 
 
 
 
 
 

ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀ.): 
ЀЀЀЀЀЀЀ Ѐ.Ѐ.: 7-8 ЀЀЀЀЀЀ (I, II, III), 

ЀЀЀЀЀЀЀЀЀЀ Ѐ.Ѐ.: 9 ЀЀЀЀЀ (I, II), 
ЀЀЀЀЀЀЀЀ Ѐ.Ѐ.: 9 ЀЀЀЀЀ (III), 

ЀЀЀЀЀЀЀ Ѐ.Ѐ.: 10-11 ЀЀЀЀЀЀ (I, II, III), 
ЀЀЀЀЀЀЀ Ѐ.Ѐ.: 7-8 ЀЀЀЀЀ (I, II, III), 10 ЀЀЀЀЀ (I, II) 

 
 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ): 
ЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ»  

ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ. ЀЀЀЀ. ЀЀЀЀ. 

 
 

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 10.10.2016 
ЀЀЀЀЀЀ 60Ѐ84 1/16. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ. ЀЀЀ. Ѐ. 2,5 

ЀЀЀЀЀ 975 ЀЀЀ. 
 

 
 
 
 
 
 
 

© ЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀ-
ЀЀЀ Ѐ. Ѐ., 2016 

© ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ», ЀЀЀЀЀ, 2016  
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ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ 
II (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
1. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 

– ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (7-8 ЀЀЀЀЀЀ) – 1,5 ЀЀЀЀ (90 ЀЀЀЀЀ), 

– ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (9 ЀЀЀЀЀ) – 1,5 ЀЀЀЀ (90 ЀЀЀЀЀ), 

– ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (10-11 ЀЀЀЀЀЀ) – 1,5 ЀЀЀЀ (90 ЀЀЀЀЀ), ЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ. 

Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 2-Ѐ ЀЀЀЀЀ. I ЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ), II ЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀЀ. 

2. ЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ) Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 3 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 

–ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 7–8 ЀЀЀЀЀЀЀ ЀЀ; 

–ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 9 ЀЀЀЀЀЀЀ ЀЀ; 

–ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 10–11 ЀЀЀЀЀЀЀ ЀЀ. 

3. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ) Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

4. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ. 

5. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

6. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀ. Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

7. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

8. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 2–3 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀ. 

9. ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ:  

– ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

– ЀЀЀЀЀЀЀЀЀЀЀ Ѐ.Ѐ.Ѐ. ЀЀЀЀЀЀЀ 

– ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

– Ѐ.Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ) 

– ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

10. ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ. 

11. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ.  

12. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ! Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ! 
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ЀЀЀЀЀЀЀ 
 

7–8 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ-

ЀЀЀ) Ѐ ЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 100 ЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀ I. ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ. 

Ѐ) …ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ…; 

Ѐ) …ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ…; 

Ѐ) …ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ…; 

Ѐ) …Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ…; 

Ѐ) …ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ…;  

Ѐ) …ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ…; 

Ѐ) …ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ…; 

Ѐ) …ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ… 

        

ЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀ II.ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ,  
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ:  
Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ___; 

Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ___; 

Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ___; 

Ѐ) ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ___; 

Ѐ) ЀЀЀЀЀ ЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ___; 

ЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă3. ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀ III. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă2. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ), Ѐ ЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
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Ѐ) ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

     
ЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă3. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ: 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

 

ЀЀЀЀЀЀЀЀ 3 ЀЀЀЀЀ. 
 

ЀЀЀЀЀЀ IV. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ); 
Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

     
ЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀ – ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ ЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ 
1 ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ  

2 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ  
3 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ  

4 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ  
5 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  

6 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  
7 ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ 
 

8 ЀЀЀЀЀЀЀЀЀЀ ЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

 

9 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀ 

 

10 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  
ЀЀЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀ V. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ 

Ѐ) … ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, …; Ѐ) … Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ …; 

Ѐ) … ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ …; Ѐ) … ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ …; 

Ѐ) … ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. 

     

ЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. «ЀЀЀЀЀЀЀЀ ЀЀЀЀ – ЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀ» 
ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ?  
ЀЀЀЀЀЀЀЀ 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 65 ЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ. 
ЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

5% -Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀ. 

1 

2 ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ?  
Ѐ) ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀ; 
Ѐ) ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

1 

3 ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀ-
ЀЀ. ЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ?  
Ѐ) ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ-ЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. 

1 

4 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – ЀЀЀ … 
Ѐ) ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

1 

5 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀ – ЀЀЀЀ; Ѐ) ЀЀЀЀЀЀ – ЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀ – ЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ. 

1 

6 ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ? 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. 

1 
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Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ. 
ЀЀЀЀ 

7 Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

1 

8 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

1 

9 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 

1 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
10 ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ 
ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀ 1-ЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ. 

3 

11 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ; 
Ѐ) ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀ 30 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 5 ЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀ-
ЀЀ; 
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. 

3 

12 ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ  ЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ?  
Ѐ) ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ̀ ЀЀЀЀЀ. 

3 

13 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ?  
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ; 

2 
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Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ. 
ЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
14 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ 

ЀЀ ЀЀЀЀЀЀЀЀЀЀ. 
1. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
2. ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀ-
ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. 
3. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
1 - ___   2 - ___   3 - ___ 

3 

15 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
(ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, … 3 Ѐ …): 
1) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ;  2) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ»; Ѐ) «ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ»; Ѐ) «ЀЀЀЀ»; 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ»; Ѐ) «ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» 

5 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 
16 ЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ___ (1) ЀЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀЀЀЀ ___ (2) ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ___ (3) ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ  
Ѐ) ЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀ  
1 2 3 
   

 

3 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
17 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

4 

 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 35 
ЀЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀ ЀЀЀЀЀЀ Ѐ 1 ЀЀ 9 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 0 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ, Ѐ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (Ѐ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ), ЀЀЀ 
ЀЀЀ ЀЀЀЀЀЀ; 

Ѐ) ЀЀЀ ЀЀЀЀЀЀ Ѐ 10 ЀЀ 13 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ. 
0 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

Ѐ) ЀЀЀ ЀЀЀЀЀЀ Ѐ 14 ЀЀ 16 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 1 ЀЀЀЀ. 
Ѐ) ЀЀЀ ЀЀЀЀЀЀ 17 ЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 100 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă 1 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
(ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ  
ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ  
ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ  
ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

… … … … 
    

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 25 ЀЀЀЀЀЀ. 
ЀЀЀ ЀЀЀЀ: - ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ; 
- 5 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă 2 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ», ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀ 

ЀЀЀЀЀЀЀ «ЀЀЀЀ!» ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 10 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă 3 
ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ». 
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ 10 Ѐ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 10 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă 4 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀ-

ЀЀЀ 1). 
ЀЀЀЀЀЀЀ: Ѐ) ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀ Ѐ (ЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ). ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 1 ЀЀ 500 Ѐ. 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ-

ЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  
1. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ.   
2. ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ.  
3. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ.  

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1 ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ «+», «–», 2 ЀЀЀЀЀЀЀ  3 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 10 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă 5 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ 2). 
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀ» Ѐ «ЀЀЀЀЀЀ» ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă6 
ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 1–2 ЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 
ЀЀЀЀ, ЀЀЀЀ. 

ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 20 ЀЀЀ-

ЀЀЀ. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ-
ЀЀЀЀ Ѐ 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 100 ЀЀЀЀЀЀ. 
ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 200 ЀЀЀЀЀЀ. 
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9 ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ-

ЀЀЀ) Ѐ ЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 100 ЀЀЀЀЀЀ.  
 

ЀЀЀЀЀЀ I. ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

1) ___, 2) ___, 3) ___, 4) ___, 5) ___, 6) ___, 7) ___ 

ЀЀЀЀЀЀЀЀ 7 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
(ЀЀЀ). ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀ? 

ЀЀЀ: ___. 1) ___  2) ___  3) ___  4) ___  5) ___ 

ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ. ЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ 

ЀЀЀ. Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ? ___ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ: ___ 

ЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă3. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ? 

ЀЀЀ ЀЀЀЀЀЀ – ___. ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ___, Ѐ ЀЀЀЀЀ ___. ЀЀЀЀ: 1) ___, 2) ___, 3) ___. 

ЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă4. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 
Ѐ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀ II. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ». ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀ 00:00 ЀЀЀ 30.06.2016 ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ 94 ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 44 502 ЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ 6 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀ III. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. ЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ – ЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀ 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ (1 ЀЀЀЀ). ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀ 
(3 ЀЀЀЀЀ)? 

2 ЀЀЀЀЀЀЀЀЀ ЀЀЀ: 1) ___, 2) ___. 

Ѐ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ: 3) ___, 4) ___, 5) ___. 

ЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, 40ЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ=120 ЀЀ ЀЀЀ ЀЀЀЀ 165 ЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 
ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀ 
Ѐ.Ѐ. ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. Ѐ ЀЀЀ-ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ.  ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  

1) ___, 2) ___, 3) ___, 4) ___. 
ЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ. 

 

ЀЀЀЀЀЀ IV. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀ.  ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀ Ѐ 02, ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. 
ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ? 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ?  ЀЀ  ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ    

ЀЀЀ    

ЀЀЀЀЀ ЀЀЀЀ?  ЀЀ  1. 

2.    

ЀЀЀ    

  1.  

… 

6. 
  

  

ЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (2 ЀЀЀЀЀ), Ѐ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ (3 ЀЀЀЀЀ)? 

ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀ: ___ 

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ? 1) ___, 2) ___, 3) ___. 

ЀЀЀЀЀЀЀЀ 6 ЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀ V. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀ «ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ». 
ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ.  ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ – 66 ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ. 
ЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ-
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ-
ЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ? 
Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ. 

1 

2 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ: 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀ; 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

1 

3 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀ Ѐ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀ. Ѐ ЀЀЀ 
ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ? 
Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ.Ѐ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 2% ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 
Ѐ) ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 

1 

4 ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ – ЀЀЀ 
Ѐ) ЀЀЀЀЀЀЀ    Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

1 

5 ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. ЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ?  
Ѐ) ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ.  
Ѐ) ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.  
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ Ѐ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ.  
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.  

1 

6 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ?  
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

1 

7 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ-
ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

1 
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Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ. 
ЀЀЀЀ 

8 Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ: 
Ѐ) ЀЀ;  Ѐ) ЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀ. 

1 

9 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – ЀЀЀ: 
Ѐ) ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

1 

10 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

1 

11 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ Ѐ ЀЀЀ, ЀЀЀ Ѐ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ: 
Ѐ) ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

1 

12 Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  
Ѐ) Ѐ-1, ЀЀЀ;      Ѐ) ЀЀЀЀЀЀЀ, ЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ; Ѐ) ЀЀЀЀЀЀЀ. 

1 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
13 ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ:  
Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀЀЀ;   
Ѐ) ЀЀЀЀ;    Ѐ) ЀЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ;    Ѐ) ЀЀЀЀЀЀЀЀ. 

2 

14 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

2 

15 ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ?  
Ѐ) ЀЀЀ ЀЀЀЀЀЀ; Ѐ) ЀЀЀ ЀЀЀЀЀЀЀ; Ѐ) ЀЀЀ ЀЀЀЀЀЀЀ; Ѐ) ЀЀЀ ЀЀЀЀЀЀЀ. 

1 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 



 

14 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ. 
ЀЀЀЀ 

16 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀ. 
(1) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ  (Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ 
(2) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ 

(Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

(3) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀ 

(Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ 

(4) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ 

(Ѐ) ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

 

2 

17 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀ. 
(1) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

(Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ 

(2) ЀЀЀЀ Ѐ ЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

(Ѐ) ЀЀЀЀЀЀЀЀ 

(3) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

(Ѐ) ЀЀЀЀЀЀ 

(4) ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀ 

(Ѐ) ЀЀЀЀЀЀЀЀЀ 

(5) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

(Ѐ) ЀЀЀЀЀЀЀЀЀЀ 

  

5 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 
18 ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (Ѐ ЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – ЀЀЀЀ ___ 
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ-
ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – ЀЀЀЀ ___ 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ – ЀЀЀЀ ___ 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ – ЀЀЀЀ __ 

4 

19 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ: 

ЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀЀ 

ЀЀЀЀ 

Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

Ѐ) 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ 

Ѐ) 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-
ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

Ѐ) 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ-
ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀ 

 

5 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
20 Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀ ЀЀ ЀЀ-
ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ? ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ.  
Ѐ) ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ.  
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.  
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
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15 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 100 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀ 2-Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ, ЀЀЀЀ-

ЀЀ, ЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ).  
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  

1. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ!», ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 

– ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ; 

– ЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ; 

– ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

– ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀ!». 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 120 ЀЀЀЀЀЀ 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 

1 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ  5 

2 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ  2 

3 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ  5 

4 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  2 

5 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 5 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ. 
2. ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.  
ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀЀЀ 3–5 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ:  
1) ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀ» Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀ»)  
2) ЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) Ѐ ЀЀЀЀЀЀЀЀ: «ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ».  
ЀЀ ЀЀЀЀЀЀЀЀЀЀ 2 Ѐ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ  

• ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-4; • ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-2; • ЀЀЀЀЀ Ѐ ЀЀЀЀЀ; • ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ; • ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ). 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  
1. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.  
2. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ.  
3. ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀ-

ЀЀЀЀЀЀЀЀ).  
4. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ). ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 60 ЀЀЀЀЀЀ 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 

1 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ) 10 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

1 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 2 

2 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀ) ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 5 

3 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 5 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ).  
ЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ 1–4). ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 90 ЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 10 ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 

ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ:  

ЀЀ 2 ЀЀЀЀЀЀЀЀ 0 

ЀЀ 4 ЀЀЀЀЀЀЀЀ 1 

ЀЀ 6 ЀЀЀЀЀЀЀЀ 3 

ЀЀ 8 ЀЀЀЀЀЀЀЀ 5 

ЀЀ 10 ЀЀЀЀЀЀЀЀ 8 

ЀЀЀЀЀ 10 ЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀЀ 

10 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ  

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ Ă3. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.  
Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – ЀЀ ЀЀЀЀЀ 30 ЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 240 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  
1. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ. 
2. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
3. ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀ 

ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

4. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ  
5. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ.  
6. ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
7. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 
8. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 25 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 25 ЀЀЀЀЀЀ. 
Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 

1 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 2 

2 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 10 

3 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 10 

4 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ 15 

5 ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀ 2 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

2 

6 ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 5 

7 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 10 

8 ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 

9 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 2 

10 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 

2 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ.  
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ЀЀЀЀЀЀЀ Ă4. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ-5 ЀЀЀ ЀЀ-7, ЀЀЀ-

ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ). ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (3,5 ЀЀЀ.) ЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ:  
1. ЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀ!» ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 
1.1. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
1.2. ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ; 
1.3. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
1.4. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
2. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 
ЀЀЀЀЀЀЀЀЀ ЀЀЀ 

1 ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 
2 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ) 3 
3 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 5 
4 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 10 
 ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ)  2 

5 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ 1 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

1 ЀЀЀЀЀЀЀ ЀЀЀЀЀ 2 
2 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 2 
3 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 2 
4 ЀЀЀЀЀЀЀ ЀЀЀЀ-ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 2 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
1 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 15 

2 
ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀ ЀЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) 

2 

3 ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 10 
ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă5. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 15 ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ 3) Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ. 
ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀЀЀЀЀ ЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă6. ЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ –2 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ.  
I. ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

(4 ЀЀЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ). 
II. ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ). 
III. ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ (ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀ. ЀЀЀЀ,). 
IV. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ (ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ). 
V. ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ (ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ)). 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 10 ЀЀЀЀЀЀ.  
1. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ – 2 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
2. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ – 2 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
3. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ – 5 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
4. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ – 10 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 200 ЀЀЀЀЀЀ. 
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10–11 ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ-

ЀЀЀ) Ѐ ЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 100 ЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀ I. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 4 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀ. 

1  3  

2  4  

ЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă3. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ 21 ЀЀЀ 2007 Ѐ. N 304 «Ѐ ЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ» ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ: 

1  

… … 

6  

ЀЀЀЀЀЀЀЀ 6 ЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀ II.  ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ. 
ЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ D. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ D Ѐ Ѐ ЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ. 
 

ЀЀЀЀЀЀ III. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀ – ___. Ѐ) ЀЀЀЀЀЀЀЀ – ___. Ѐ) ЀЀЀЀЀЀЀ – ___.  

ЀЀЀЀЀЀЀЀ 6 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀ» Ѐ «ЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀ-
ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă3. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀ IV. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 
ЀЀЀЀЀЀЀЀЀЀЀ 1 ___ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ 2 ___ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ 3 ___ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ 4 ___ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ. 



 

19 

ЀЀЀЀЀЀЀЀЀЀЀ 5 ___ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

Ѐ ЀЀ.), ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

Ѐ) ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: ___ 

Ѐ) ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ): ___ 

ЀЀЀЀЀЀЀЀ 14 ЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀ V. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ 
   

… … … 

   

ЀЀЀЀЀЀЀЀ 9 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ:___ 
ЀЀЀЀЀЀЀЀ 6 ЀЀЀЀЀЀ. 

 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ. 
ЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1 ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀ. 

1 

2 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀ 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

1 

3 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀ? 
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 

1 

4 ЀЀЀЀЀЀЀЀЀЀЀ – ЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀ 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ 

1 



 

20 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ. 
ЀЀЀЀ 

5 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: 
Ѐ) 30 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 1 ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) 2 ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 1 ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) 2 ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 30 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀ ЀЀЀЀЀ 1 ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ. 

1 

6 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ 60 ЀЀ? 
Ѐ) 2;  Ѐ) 3;  Ѐ) 5;  Ѐ) 6. 

1 

7 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 
Ѐ) 2:15; Ѐ) 1:5;  Ѐ) 30:2; Ѐ) 15:3. 

1 

8 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ-74 ЀЀЀЀЀЀЀЀЀЀ: 
Ѐ) 5,45 ЀЀ; Ѐ) 7,62 ЀЀ; Ѐ) 9 ЀЀ. 

1 

9 ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 50 
% ЀЀЀЀЀЀЀ ЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ;      Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀ. 

1 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
10 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 

Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀ;    Ѐ) ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀ; 
Ѐ) ЀЀ ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ. 

3 

11 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀ» ЀЀЀ: 
Ѐ) ЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀЀЀ. 

2 

12 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ?  
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

3 

13 Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ-ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ-ЀЀЀЀЀ, ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ 1 ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 3 ЀЀЀЀЀ. 

2 

14 Ѐ 18 ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ. 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

3 

15 ЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. 

2 

16 Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: 
Ѐ) 2.5 «ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ»;  Ѐ) 3.2 «ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ»; 
Ѐ) 4.1.1 «ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ»;    Ѐ) 5.1 «ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ»; 
Ѐ) 5.19.1 «ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ»;   Ѐ) 6.4 «ЀЀЀЀЀЀЀЀ». 

2 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
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Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ. 
ЀЀЀЀ 

17 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀ. 
(1) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
(2) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀ   
(3) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
(4) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ   

(Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ 
(Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
(Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ 
(Ѐ) ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

 

4 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
18 ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 
1) ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ;    2) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
3) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ;  4) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ; 
5) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ: 
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ЀЀЀЀЀЀЀЀЀЀ:  

Ѐ) ЀЀЀ ЀЀЀЀЀЀ 1-9 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 0 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ 

ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (Ѐ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ), ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ;  

Ѐ) ЀЀЀ ЀЀЀЀЀЀ 10-16 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 1 ЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. 

Ѐ) ЀЀЀ ЀЀЀЀЀЀ 17 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 1 ЀЀЀЀ 

Ѐ) ЀЀЀ ЀЀЀЀЀЀ 18 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 0 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

100 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀ-74) 
Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ-ЀЀЀЀЀЀЀ (ЀЀ ЀЀЀЀЀ) ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀ-74), ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ-74 Ѐ 30 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ-74, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ-74 ЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:   

Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀ-74):  

ЀЀЀ ЀЀЀЀЀЀ – 19 ЀЀЀ.; ЀЀЀ ЀЀЀЀЀЀЀ – 35 ЀЀЀ.;  

Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀ-74):  

ЀЀЀ ЀЀЀЀЀЀ – 30 ЀЀЀ.; ЀЀЀ ЀЀЀЀЀЀЀ – 45 ЀЀЀ.;  
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ. 

Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ:  

ЀЀЀ ЀЀЀЀЀЀ – 30 ЀЀЀ.; ЀЀЀ ЀЀЀЀЀЀЀ – 45 ЀЀЀ.;  
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 10 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ:  

1. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 
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1.1. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

1.2. ЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 

1.3. ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ; 

1.4. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 

1.5. ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

1.6. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 

1.7. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 

1.8. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

2. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 

ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ 

(ЀЀЀЀЀ) 

ЀЀЀЀЀЀЀЀ ЀЀ 

1 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 10 

2 ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 2 

3 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 2 

4 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 3 

5 ЀЀЀЀЀЀЀЀЀ ЀЀ (ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-

ЀЀ 

2 

ЀЀЀЀЀЀ ЀЀ 

1 ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2 

2 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 

3 ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 5 

4 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2 

5 ЀЀЀЀЀЀЀЀЀ ЀЀ (ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-

ЀЀ 

2 

6 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (40 ЀЀЀ). ЀЀ ЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ 2 

7 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 1 ЀЀЀЀ (ЀЀ 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ) 

 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 30-ЀЀ ЀЀ-

ЀЀЀЀ 

1 

   

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ-5 ЀЀЀ ЀЀ-7, ЀЀЀ-

ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ). ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (3 ЀЀЀ.) ЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ:  
1. ЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀ!» ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 
1.1. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
1.2. ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ; 
1.3. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
1.4. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
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2. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 
ЀЀЀЀЀЀЀЀЀ ЀЀЀ 

1 ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 

2 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ) 3 

3 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 5 

4 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 10 

5 ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ)  2 

6 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ 1 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
1 ЀЀЀЀЀЀЀ ЀЀЀЀЀ 2 

2 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 2 

3 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 2 

4 ЀЀЀЀЀЀЀ ЀЀЀЀ-ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 2 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
1 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 15 

2 
ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) 

2 

3 ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 10 

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀЀ Ă3. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀ, 
ЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ. ЀЀ-
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: 
1. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
2. ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀ 

ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

3. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ, ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

4. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 25 ЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

1 ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 5 

2 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 5 

3 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 2 

4 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 2-Ѐ ЀЀЀЀЀ 15 

5 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ) 

ЀЀЀЀЀ 1 ЀЀЀЀЀЀ 

5 

6 ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 5 

7 ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ 5 

8 ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ 10 

9 ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 5 
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ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ 

1 ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀЀ 5 

2 ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 10 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

1 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 

2 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 1 

3 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 1 

4 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 1 

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă4 ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ: ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 
1 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

(Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) Ѐ ЀЀЀЀЀЀЀ 30 Ѐ 
15 

2 ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 10 

3 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 10 

 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 25 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă5. ЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ –2 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ.  
I. ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ (4 ЀЀЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀ). 

II. ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ). 
III. ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ (ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀ. ЀЀЀЀ,). 
IV. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ (ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ). 
V. ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ (ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ)). 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 10 ЀЀЀЀЀЀ. 
1. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ – 2 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
2. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ  – 2 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
3. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ  – 5 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
4. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ – 10 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 200 ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ  
 

7–8 ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀ I 
ЀЀЀЀЀЀ Ă1. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ:  
-ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ); 
-ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 
-ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
-ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

- ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ 
ЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 

-ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀ-
ЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ; 

- ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 8 ЀЀЀЀЀЀ: 
- ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ – 2 ЀЀЀЀЀ. ЀЀЀЀ ЀЀ ЀЀЀЀЀ-ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ; 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀ: Ѐ, Ѐ, Ѐ, Ѐ, Ѐ, Ѐ, Ѐ, Ѐ. 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 8 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ:  
- ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀ;  
- ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ – 3 ЀЀЀЀЀ. 
ЀЀЀЀЀЀ II 

ЀЀЀЀЀЀЀ Ă1.  
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: Ѐ) __ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ;  
Ѐ) __ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) __ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ___ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ___ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă2.  
-ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ.  
-ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
-ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀ, Ѐ ЀЀЀЀ 

ЀЀЀ ЀЀЀЀ.  
-ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ Ѐ.Ѐ.  
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ; ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
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ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ă3.  
•  ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  

• ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-ЀЀЀЀЀЀ: ЀЀЀЀ, ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ.   

• ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀ). 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 5 ЀЀЀЀЀЀ, 
ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 5 ЀЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀЀ 1 ЀЀЀЀ; ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ III 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ; 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ; ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. Ѐ, Ѐ, Ѐ, Ѐ, Ѐ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă3. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ:  

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 3 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ. 

ЀЀЀЀЀЀ IV 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: Ѐ, Ѐ, Ѐ, Ѐ, Ѐ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ:  

Ă ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ 

1 ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

2 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
3 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

4 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
5 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

6 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 
7 ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

8 ЀЀЀЀЀЀЀЀЀЀ ЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ 

9 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ 

10 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ. 
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ЀЀЀЀЀЀ V 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ. ЀЀЀЀЀ ЀЀЀ – ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ (1 ЀЀЀЀ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ (1 ЀЀЀЀ), ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (1 ЀЀЀЀ), ЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (1 ЀЀЀЀ) Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ (1 ЀЀЀЀ).  

ЀЀЀЀЀ: Ѐ, Ѐ, Ѐ, Ѐ, Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 3 ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 

Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ, Ѐ, 

Ѐ 

Ѐ, Ѐ, 

Ѐ 

Ѐ, Ѐ, 

Ѐ 

Ѐ, 

Ѐ 

1Ѐ, 2Ѐ, 

3Ѐ 

1Ѐ,Ѐ,Ѐ, 

2Ѐ,Ѐ 

1Ѐ, 2Ѐ, 

3Ѐ 

Ѐ, Ѐ, Ѐ, 

Ѐ 
 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀ Ă 1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ:  

ЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, 

ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, 

ЀЀЀЀЀ-ЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀ 1,5-2 ЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ-

ЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ 

ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ-

ЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ-

ЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀ-

ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ 

1.ЀЀЀЀЀ. 

2.ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 25 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ 5 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 10 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 8 Ѐ. – 10 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 10 Ѐ. – 7 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 12 Ѐ. – 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 12 Ѐ. – 0 Ѐ. 

ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 

– ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ;  

– ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
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– ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă 3. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 5 ЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ – 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă4. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ – 10 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ± 50 Ѐ – 3 ЀЀЀЀЀ; 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ± 100 Ѐ – 5 ЀЀЀЀЀЀ; 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ± 200 Ѐ – 7 ЀЀЀЀЀЀ; 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ± 300 Ѐ – 10 ЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1 ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ «+», «–», 2 ЀЀЀЀЀЀЀ  3 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  

ЀЀЀЀЀЀЀ Ă 5. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ – 15. 

Ѐ) «ЀЀЀЀЀ» (ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ); 

Ѐ) «ЀЀЀЀЀЀЀ» (ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ); 

Ѐ) «ЀЀЀЀЀЀЀЀ» (ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ); 

Ѐ, Ѐ, Ѐ) «ЀЀЀЀЀЀЀ» (ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀ); 

Ѐ, Ѐ) «ЀЀЀЀЀ» (ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ); 

ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀ ЀЀ 1 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă6. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 

1. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

2. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. 

3. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ). 

4. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

5. ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

1 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  10 

2 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ. 10 

3 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 10 

4 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. 5 

5 ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ 5 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 

20 ЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 0 ЀЀЀЀЀЀ. 
 

9 ЀЀЀЀЀ 
ЀЀЀЀЀЀ I 

ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 

1) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ; 

2) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ; 

3) ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀ Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ; 

4) ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ; 

5) ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ 
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ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ; 

6) ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ; 

7) ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (Ѐ - 1) 

1) ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ; 2) ЀЀЀЀЀЀЀЀЀЀ; 3) ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ; 4) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 

5) ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

Ѐ-1 ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă3. ЀЀЀЀЀ: ЀЀЀ ЀЀЀЀЀ – ЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ ЀЀЀЀ», ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ) Ѐ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ Ѐ Ѐ.Ѐ. 

(ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀ) Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

(ЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă4 

 
ЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ II 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ); 

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ; 

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ (ЀЀЀЀЀ). 

ЀЀЀЀЀЀЀ Ă2.  

 

ЀЀЀЀЀЀ. 

Ѐ ЀЀЀЀ-

ЀЀЀ ЀЀ-

ЀЀЀЀЀЀ  

ЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ  

ЀЀЀЀЀЀ-

ЀЀЀЀЀЀ 
 

ЀЀЀЀ-

ЀЀЀЀЀ 

 

ЀЀЀЀЀЀЀЀ 

 

ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀ-

ЀЀЀ 
 

ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ-

ЀЀЀ  

ЀЀЀЀ-

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ III 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀ: 2 ЀЀЀЀЀЀЀЀЀ ЀЀЀ: 

1) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 2) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ). 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀ  
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Ѐ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ: 3) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, 4) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀ (ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ), 5) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀ: 

- ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 

- ЀЀЀЀЀЀЀЀЀЀЀ; 

- ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 

- ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ IV 
ЀЀЀЀЀЀЀ Ă1.  

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ?  ЀЀ  ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ    

ЀЀЀ    

ЀЀЀЀЀ ЀЀЀЀ?  ЀЀ  1. ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ 

2. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 
   

ЀЀЀ    

  1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

2. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

3. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

4. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

5. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ  

6. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

  

  

ЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀ: ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ? 1) ЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀ) ЀЀЀЀЀЀЀЀ Ѐ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ). 2) ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 3) ЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ V 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀ: ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀ 

Ѐ, ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

Ă ЀЀЀЀЀ Ă ЀЀЀЀЀ Ă ЀЀЀЀЀ 

1 Ѐ 8 Ѐ 15 Ѐ, Ѐ , Ѐ 

2 Ѐ 9 Ѐ 16 1Ѐ, 2Ѐ, 3Ѐ, 4Ѐ 

3 Ѐ 10 Ѐ 17 1Ѐ, 2Ѐ, 3Ѐ, 4Ѐ, 5Ѐ 

4 Ѐ 11 Ѐ, Ѐ 18 Ѐ -400-700 Ѐ, Ѐ -100 Ѐ, Ѐ – 50 Ѐ, Ѐ – ЀЀЀЀЀ 100 Ѐ 

5 Ѐ 12 Ѐ, Ѐ 19 Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ), Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, 

Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
6 Ѐ 13 Ѐ, Ѐ, Ѐ, 

Ѐ 

7 Ѐ 14 Ѐ, Ѐ, Ѐ, Ѐ 20  
 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 100 

ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  

1. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ!», ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 

– ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ; 

– ЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ; 

– ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

– ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀ!». 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 120 ЀЀЀЀЀЀ 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 

1 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ  5 

2 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ  2 

3 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ  5 

4 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  2 

5 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 5 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ 

2. ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  

1. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.  

2. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ.  

3. ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀ-

ЀЀЀЀЀЀЀЀЀЀ).  

4. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ). ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ).  
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 60 ЀЀЀЀЀЀ 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 

1 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ) 10 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

1 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 2 

2 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀ) ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 5 

3 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 5 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2.  
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 10 ЀЀЀЀЀЀ  

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 

ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ:  

ЀЀ 2 ЀЀЀЀЀЀЀЀ 0 

ЀЀ 4 ЀЀЀЀЀЀЀЀ 1 

ЀЀ 6 ЀЀЀЀЀЀЀЀ 3 

ЀЀ 8 ЀЀЀЀЀЀЀЀ 5 

ЀЀ 10 ЀЀЀЀЀЀЀЀ 8 

ЀЀЀЀЀ 10 ЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀЀ 

10 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ  

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ Ă3. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  

1. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ. 
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2. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

3. ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ Ѐ 

ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

4. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

5. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ.  

6. ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

7. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

8. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 240 ЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 25 ЀЀЀЀЀЀ. 
Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 

1 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 2 

2 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 10 

3 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 10 

4 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ 15 

5 ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀ 2 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

2 

6 ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 5 

7 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 10 

8 ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 

9 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 2 

10 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 

2 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ Ă4. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ:  

1. ЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀ!» ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 

1.1. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ; 

1.2. ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ; 

1.3. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

1.4. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

2. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ. 
Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 

ЀЀЀЀЀЀЀЀЀ ЀЀЀ 

1 ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 
2 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ) 3 

3 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 5 

4 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 10 

 ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ)  2 

5 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ 1 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

1 ЀЀЀЀЀЀЀ ЀЀЀЀЀ 2 

2 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 2 

3 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 2 

4 ЀЀЀЀЀЀЀ ЀЀЀЀ-ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 2 
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ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
1 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 15 

2 
ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀ ЀЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) 

2 

3 ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 10 

ЀЀЀЀЀЀЀ Ă5. ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀЀЀЀЀ ЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ Ă6. ЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 10 ЀЀЀ-

ЀЀЀ.  

1. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ – 2 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 

2. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ  – 2 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 

3. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ  – 5 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 

4. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ – 10 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (9 ЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 

Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 200 ЀЀЀЀЀЀ. 

 
10–11 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀ I 

ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 

1) ЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 2) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 3) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 4) ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ. 

ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ (ЀЀ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ 4 

ЀЀЀЀЀЀЀ); ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: 

1 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 3 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

2 ЀЀЀЀЀЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 4 ЀЀЀЀЀ (ЀЀ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ). 

ЀЀЀЀЀЀЀ Ă3.  
1 ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ) 

2 ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀ) 

3 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

4 ЀЀЀЀЀЀЀЀЀЀЀЀ 

5 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

6 ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 6 ЀЀЀЀЀЀ (ЀЀ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ). 

ЀЀЀЀЀЀ II 
ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀ – ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 2 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: Ѐ) ЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ Ѐ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. Ѐ) ЀЀЀЀЀЀЀЀЀЀ – 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ, ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 4 ЀЀЀЀЀ (ЀЀ 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ). 
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ЀЀЀЀЀЀ III 

ЀЀЀЀЀЀЀ Ă1. 
Ѐ) ЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

Ѐ) ЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. 

Ѐ) ЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ-ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 6 ЀЀЀЀЀЀ (ЀЀ 2 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ). 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀ. Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ 

ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ). ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀ «ЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀ-

ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 4 ЀЀЀЀЀ (ЀЀ 3 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ Ѐ 1 ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ). 

ЀЀЀЀЀЀЀ Ă3. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ; ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ); ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 5 ЀЀЀЀЀЀ (ЀЀ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ). 

ЀЀЀЀЀЀ IV 
ЀЀЀЀЀЀЀ Ă1. 1) ЀЀЀЀЀЀЀЀЀЀЀ; 2) ЀЀЀЀЀЀЀЀЀ; 3) ЀЀЀЀЀЀЀЀЀЀЀЀ; 4) ЀЀЀЀЀЀЀЀЀЀЀ; 

5) ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 5 ЀЀЀЀЀЀ. ЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 1 ЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ Ă2. Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀ), ЀЀЀЀЀЀЀЀЀ ЀЀ (ЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀ. ЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ. 

Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 

Ѐ.Ѐ. ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀ 2-Ѐ ЀЀЀЀЀЀ – 14 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ: 

- ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ «Ѐ» ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 7 ЀЀЀЀЀЀ;  

- ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ «Ѐ» ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 7 ЀЀЀЀЀЀ;   

- ЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 5 ЀЀЀЀЀЀ; 

- ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 2 ЀЀЀЀЀЀ; 

- ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀ V 

ЀЀЀЀЀЀЀ Ă1 

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀ  

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀ  ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ 

 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 9 ЀЀЀЀЀЀ (ЀЀ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ). 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 6 ЀЀЀЀЀЀ (ЀЀ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ). 
 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ  

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 

Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ 

Ѐ, 

Ѐ 

Ѐ 

Ѐ, Ѐ 
Ѐ, Ѐ, 

Ѐ 
Ѐ, Ѐ 

Ѐ, Ѐ, 

Ѐ 
Ѐ, Ѐ Ѐ, Ѐ 

1Ѐ, 

2Ѐ, 

3Ѐ, 

4Ѐ 

5, 2, 

4, 3, 

1 

 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀ 100 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă1. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:   

Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀ-74): ЀЀЀ ЀЀЀЀЀЀ – 19 ЀЀЀ.; ЀЀЀ 

ЀЀЀЀЀЀЀ – 35 ЀЀЀ.;  

Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀ-74): ЀЀЀ ЀЀЀЀЀЀ – 30 ЀЀЀ.; ЀЀЀ ЀЀЀЀЀЀЀ – 

45 ЀЀЀ.;  

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ.   

Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: ЀЀЀ ЀЀЀЀЀЀ – 30 ЀЀЀ.; ЀЀЀ ЀЀЀЀЀЀЀ – 45 ЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ –10 ЀЀЀЀЀЀ.   

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ:  

1. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 

1.1. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

1.2. ЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 

1.3. ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ; 

1.4. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 

1.5. ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

1.6. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 

1.7. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 

1.8. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

2. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 
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ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀ; ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ 

(ЀЀЀЀЀ) 

ЀЀЀЀЀЀЀЀ ЀЀ 

1 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 10 

2 ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 2 

3 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 2 

4 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 3 

5 ЀЀЀЀЀЀЀЀЀ ЀЀ (ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 2 

ЀЀЀЀЀЀ ЀЀ 

1 ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2 

2 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 

3 ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 5 

4 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2 

5 ЀЀЀЀЀЀЀЀЀ ЀЀ (ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 2 

6 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (40 ЀЀЀ). ЀЀ ЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ 2 

7 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 1 ЀЀЀЀ (ЀЀ 

ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ) 

 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 30-ЀЀ ЀЀ-

ЀЀЀЀ 

1 

ЀЀЀЀЀЀЀ Ă2. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ:  

1. ЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀ!» ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 

1.1. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ; 

1.2. ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ; 

1.3. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

1.4. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

2. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 
ЀЀЀЀЀЀЀЀЀ ЀЀЀ 

1 ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 

2 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ) 3 

3 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 5 

4 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 10 

5 ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ)  2 

6 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ 1 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
1 ЀЀЀЀЀЀЀ ЀЀЀЀЀ 2 
2 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 2 

3 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 2 

4 ЀЀЀЀЀЀЀ ЀЀЀЀ-ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 2 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
1 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 15 

2 
ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) 

2 

3 ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 10 
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ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă3. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: 

1. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

2. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ, ЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

3. ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀ ЀЀЀ-

ЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ. 

4. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – 25 ЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

1 ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 5 

2 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 5 

3 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 2 

4 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 2-Ѐ ЀЀЀЀЀ 15 

5 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ) 

ЀЀЀЀЀ 1 ЀЀЀЀЀЀ 

5 

6 ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 5 

7 ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ 5 

8 ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ 10 

9 ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 5 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ 

1 ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀЀ 5 

2 ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 10 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

1 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 

2 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 1 

3 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 1 

4 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 1 

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă4.  
Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ) 
1 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

(Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) 
10 

2 ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 10 

3 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 10 

 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 25 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ Ă5. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 10 ЀЀЀЀЀЀ.  

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 200 ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀЀЀ 

  

  

  

  

 
ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, 

ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀ), ЀЀЀ-

ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ 

  

  

  

   

 
ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ (ЀЀЀ-

ЀЀЀ ЀЀЀЀЀ) 
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Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-ЀЀ, ЀЀ. ЀЀЀЀЀЀЀЀЀ 
1 ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ-5, ЀЀ-7 6 ЀЀ. 
2 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-2 ЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀ. 
3 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-4 (ЀЀ-5) 1 ЀЀ. 
4 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ) 1 ЀЀ. 
5 ЀЀЀЀЀЀЀ Ø 14ЀЀ,10-11 ЀЀ ЀЀЀЀЀ 15 Ѐ 
6 ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ) Ø 6-8ЀЀ 4 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 4 Ѐ 
7 «ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ» (ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ) 1 ЀЀ. 
8 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀ. 
9 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 2 ЀЀ. 

10 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ 4 ЀЀ. 
11 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 1 ЀЀ. 
12 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ-74 2 ЀЀ. 
13 ЀЀЀЀЀЀЀ ЀЀ Ѐ 30 ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ) 2 ЀЀ. 
14 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀ. 
15 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «ЀЀЀЀ» 2 ЀЀ. 
16 ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) 6 ЀЀ. 
17 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
18 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 4 ЀЀ. 
19 ЀЀЀЀЀЀЀ (ЀЀЀЀЀ 20-30 ЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ 1ЀЀ) 4 ЀЀ. 
20 ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 10 ЀЀ. 
21 ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀЀ/ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 
22 ЀЀЀЀЀЀЀЀЀЀ 3 ЀЀ. 
23 ЀЀЀЀ 1 ЀЀ. 
24 ЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ) – ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 1 ЀЀ. 
25 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1 ЀЀ. 
26 ЀЀЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀ. 
27 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 3 ЀЀ. 
28 ЀЀЀЀЀЀЀЀ 1 ЀЀ. 
29 ЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ) 1 ЀЀ. 
30 ЀЀЀЀЀЀЀ ЀЀЀЀЀ 2Ѐ2Ѐ 1 ЀЀ. 
31 ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 4 ЀЀ. 
32 ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1 ЀЀ. 
33 ЀЀЀЀЀ 6/8/12 Ѐ 1 ЀЀ. 
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